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Let’s  play  a  game




Recapitula*on:  DTMC


•  A  Markov  chain  consists  of:

– S 
   
   
   
   
   
   
finite  set  of  states  

   
   
   
   
   
   
   
(oLen  S  =  {1,  2,  ...  n})


– P:  S  ×  S    [0,1]   
   
transi*on  probability  matrix  

   
   
   
   
   
   
   
(with  row  sums  =  1)


– π0:  S    [0,1]   
   
   
ini*al  state  distribu*on  
   
   
   
   
   
   
   
(some*mes)


– L:  S    2AP 
   
   
   
labelling  with  

   
   
   
   
   
   
   
atomic  proposi*ons




what  about  *me?


•  Two  interpreta*ons  of  DTMC:

– either  every  step  takes  the  same  *me

– or  it  is  unknown  /  irrelevant  how  long  a  step  takes


•  Other  *ming  models?




exponen*al  distribu*on
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probability  that  event  
happens  aLer  *me  t:  

Gα(t)  =  e–αt




exponen*al  distribu*on


•  cumula*ve  distribu*on  func*on  (cdf)  =  
probability  that  event  happens  ≤  *me  t:  
Fα(t)  =  1  –  Gα(t)  =  1  –  e–αt


•  probability  density  func*on  =  deriva*ve  of  cdf  
fα(t)  =  F'α(t)  =  αe–αt


•  expected  value:  E(Fα)  =  1  /  α




exponen*al  distribu*on  
is  memoryless


Pr(Event  >  s+t  |  Event  >  s)  =  
Pr(Event  >  s+t  ∧  Event  >  s)  /  Pr(Event  >  s)  =  

G(s+t)  /  G(s)  =  
e–α(s+t)  /  e–αs  =  
e–α(s+t–s)  =  
e–αt  =  
G(t)  =  

Pr(Event  >  t)




minimum  of  
exponen*al  distribu*ons


Pr(min(Eventα,  Eventβ)  >  t)  =  
Pr(Eventα  >  t  ∧  Eventβ  >  t)  =  

Gα(t)·Gβ(t)  =  
e–αt·e–βt  =  
e–(α+β)t  =  
Gα+β(t)  =  

Pr(Eventα+β  >  t)




Idea  for  *ming  in  Markov  chains


•  each  transi*on  from  current  state  
becomes  enabled  aLer  a  random  *me

–  with  exponen*al  distribu*on  Fα


•  first  enabled  transi*on  is  taken

–  intui*on:  
Upon  entering  state,  set  random  kitchen  *mers;  
first  *mer  to  ring  indicates  which  transi*on  is  taken.


–  distribu*on  of  sojourn  *mes  
=  minimum  of  exponen*al  distribu*ons


–  probability  to  choose  a  transi*on  
=  propor*onal  to  α  




CTMC


•  A  con*nuous-­‐*me  Markov  chain  consists  of:

– S 
   
   
   
   
   
finite  set  of  states  

   
   
   
   
   
   
(oLen  S  =  {1,  2,  ...  n})


– R:  S  ×  S    ℝ≥0   
transi*on  rate  matrix

– π0:  S    [0,1]   
   
ini*al  state  distribu*on  
   
   
   
   
   
   
(some*mes)


– L:  S    AP 
   
   
labelling  with  atomic  proposi*ons




Example


•  Hubble  space  telescope




Probability  space  of  a  CTMC


•  *med  cylinder  set  
Cyl(s0,  I1,  s1,  ...,  In,  sn)  :=  paths  star*ng  with  s0,  s1,  ...,  sn  

   
   
   
   
   
   
and  with  sojourn  *mes  in  intervals  I1,  ...,  In


•  σ-­‐algebra  generated  by  *med  cylinder  sets

•  probability  measure:  unique  extension  of  
   
   
μ(Cyl(s0,  I1,  s1,  ...,  In,  sn))  =  
   
   
   
=  π0(s0)·∙Pr(Event1  ∈  I1)·∙P(s0,s1)·∙  
   
   
   
   
Pr(Event2  ∈  I2)·∙P(s1,s2)·∙·∙·∙  
   
   
   
   
Pr(Eventn  ∈  In)·∙P(sn–1,sn)




probability  of  sojourn  *me?


•  Pr(Event  ∈  (a,b])  =  
Pr(Event  >  a)  –  Pr(Event  >  b)  =  G(a)  –  G(b)


•  Pr(Event  ∈  [a,b])  =  
Pr(Event  =  a)  +  Pr(Event  ∈  (a,b])  =  
                    0                        +  G(a)  –  G(b)


•  concretely,  
Pr(Event1  ∈  I1)  =  G1(inf  I1)  –  G1(sup  I1)  =  
e–αinf  I1  –  e–αsup  I1  
where  α  =  exit  rate  of  s0  =  Σ  R(s0,  ...)


rate  of  minimum  
of  all  exponen*al  
distribu*ons




Infinitesimal  generator  Q


•  matrix  related  to  rate  matrix

•  used  for  state  probabili*es


•  Assume  P(t)  =  probability  to  move  from  ...  
to  ...  in  *me  t


•  Q  :=  P'(0)




Proper*es  of  Q


•  qij  =  limdt    0  pij(dt)  /  dt     
   
(if  i  ≠  j) 

•  qij  dt  =  pij(dt)  
≈  probability  to  move  from  i  to  j  in  *me  dt  
≈  (rate  to  move  from  i  to  j)  ·∙  dt  =  R(i,j)dt


•  qii  =  limdt    0  (pii(dt)  –  1)  /  dt

•  –qii  dt  =  1  –  pii(dt)  
≈  probability  to  leave  i  in  *me  dt  
≈  (exit  rate  of  i)  ·∙  dt  =  Σj≠i  R(i,j)dt




Proper*es  of  Q


•  P'(t)  =  limdt    0  [  P(t  +  dt)  –  P(t)  ]  /  dt  
P'(t)  =  limdt    0  [  P(t)  P(dt)  –  P(t)  I  ]  /  dt  
P'(t)  =  P(t)  limdt    0  [  P(dt)  –  I  ]  /  dt  
P'(t)  =  P(t)  Q



